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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

(Long Answer Type Question)

A‘hswer any two questions of the folfowing, taking at
least one from each group : 15%2

GROUP - A

1. What is Existential import of Propositions? Explain

the existential import of A, E, [ and O propositions.
: 5+10

2. (a) Whatis Existential fallacy?

(b) What is the rule of syllogism the violation of
which leads to the existential fallacy?
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(¢) Explain why BRAMANTIP and DARAPT! are
not valid mood on modern interpretation.
{(Use venn diagram). 4+3+8

(a) What is a syllogism?
(b) Explain with concrete examples the different

types of syllogism. 3+12
GROUP -B
Explain and examine after Copi, Mill's method of
agreement and difference. 15

What are the criteria used in judging the
accepatability of a hypothesis? Explain. 15

Define argument by analogy. Explain with the
criteria for appraising an analogical argument.

3+12
(Semi-Long Answer Type Questions)
Group - A

Answer any Five questions, taking at least Two

from each group : 8 x5 =40
(a) Reduce the following sentences to standard

form categorical proposition : 2+
(i) He laughs, whenever he is reminded

of his loss.

(ii) She does not give her opinion unless
she is asked to do so.
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(b) Express the following in the Boolean notation
and symbolize them by means of Venn
diagram : 2+2
(i) Everything is material.

i() S along is not P.
8. . (a) Use Venn diagram to test the validity :
‘ 4+4

(i) No one present is uneducated. No
member is absent. Therefore, all
members are educated.

(i) No one present is out of work. Al
members are present. Hence all
members are employed.

9. (@) Given the 'No man is Perfect' is true what
can be inferred about the truth value of the
following : 2+2
(i) Al non-men are non-perfect.

(i) All non-perfect are men.

(b) Distinguish between contrary opposition and
contradictory opposition. 4

10. (a) Explain with example disjunctive syllogism.
- (b) According to Boolean interpretation
- conversion by limitation is not valid — Explain.

| 4+4
11. Explain the different senses in which the word
'‘Cause’ is used in logic. 4
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Group - B
12, Translate the following using quantifiers, individuals,
variables : (Any four) 2x4
(@) Any person is a cowrad who deserts.

(b) Any tall man is attractive if he is dark and
handsome.

(c) This flower is red.

(d) A gladiator wins if and only if he is lucky.

(e) The common is never fatal.

13. Construct formal proof of validity (Any two) :

4+4

@ Hv~H)>G/ .G

(b) (x) (Mx = Nx)

(3x) (Mx . Ox) / .. (3x) (Ox . Nx)

(c) Jones will come if she gets the message,
provided that she is still interested. Althoguh
she didn't come, she is still interested.
Therefore she didn't get the message.

14, Prove the invalidity of the following : 4+4
(@ S>(ToU)
VoWosX)
ToNv. W
~(T.X)/ . S=U
() (3 (Ax . Bx)
(3x) (Cx . Bx) / . (x) (Cx o ~ Ax)
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15.
16.

17.
18,
19.
20.
21,

Write a short note on crucial experiment. 8

Answer any two of the following : 4+4

- (@) What is the probability of getting a 10 in

rolling two dice?

| (b) What is the probability of getting at most

one head in the three throws of a coin?

(c) What is the probability of getting a diamond
in three draws from a deck of cards?

(i) If each card is replaced before the
next drawing.

(i) If cards drawn are not replaced.
(Short Answer Type Questions)

Answer any Five questions, taking at least Two
from each group . 4x5

Group - A
What is Logic ? Answer after |.M. Copi.
What is Singular Proposition ? Give example.
What is material implication ?
Waht is formal proof of validity ?

Waht is dilemma? Give example.
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22.

23.

24.

25.

26.

Group - B

If A, B and C are true statements and X, Y and
Z are false statements, determine the truth value
of the following statements : 2+2

(i) (Xo2Y)o~B]lo~Z
(i) (~BoxZ)o~B]lo>~Z2

Use truth table to characterise the following
statement forms of tautology, self-contradictory
or contingent : 2+2

B (P>o4q)=[(P~q)=4d]
(i) ~((.qg) o[(~pv~aq op

Determine the validity of the following using truth
table : 2+2

(i) A>(B>A)
A>B/ . .B>A)

(i) P=(~PV~aq)
Pv = P { &P =g

What are the differences between Rules of
Inference and Rule of Replacement? 4

What is the probability of getting at least one
head in the three throws of a coin? 4
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13.

14.

18,

16.
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22.
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